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For.each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct ovai (1, 2, 3 or 4) on the Optical Answer
Sheet (OAS). (60 marks)

1 A snalil hides itself in its shell when touched.

This shows that the snail is a living thing because it can

(1) grow

(2) breathe

(3) reproduce

(4) respond to changes

2 Which one of the following objects can be bent easily without breaking?

(1) Asheetof glass (2) A plastic spoon
@ ——=2
(3) Atowel | (4) A wooden ruler

1 {Go on to the next page)



3 Inwhich one of the following will the two magnets push each other away?

M| N s| [N S
(2) SIIN S

N

slls
(4) N S

S

N

2 (Go on to the next page}



4  Look at the picture below.:

Which one of the following explains why Sue can see the book on the tabie?

’ Direction of
light

(1)

(3) (4)

3 {Go on to the next page)



7

(1)
(2)
3
{4)

gullet
stomach

small intestine

large intestine

5 in whi‘c'h.par?t. of the digestive system is food absorbed into the blood?

Matter is anything that has mass and occupies space.
Which of the following is NOT a matter?

(M
(2)
(3)
(4)

Study the classification table below.

Air
Soil

Water
Shadow

Animals

l

Give birth to young alive

Lay eggs
[ [
l l C
3-stage life cycle 4-stage life cycle

]

A B
What could A, Band C represént?

A B C
(1) Chicken Mosquito _ Cockroach
(2) Mosquito Cockroach Dog
{3) Butterfly Fish Cat
@ Fish Mosquito Horse
4 {Go on to the next page)



8

Which one of the following is a source of fight?

an orange

(3)

a match stick

Study the chart below.

(2)

(4)

Flants

I

the sun

aleaf

[

Flowering

Rose
Hibiscus

]
Non-flowering
[
X

Which plant could be placed in the box marked “X"?

(1) Mushroom

(2) Orchid plant
(3) Mango plant
(4) Bird’'s nestfern

{Go on to the next page}



10 Ronald places a metal spoon in @ cup of hot tea.

D

metal spoon \‘_
Ee)

a cup of hot tea

The spoon becomes hotter after a while. Which one of the following explains this?

(1) The cup loses heat 1o the hot tea.

(2) The spoonloses heat to the hot tea.
(3) The spoon gains heat from the hot tea.
(4) The hot tea gains heat from the spoon.

14 Catherine wants to measure the temperature of hot water in beaker. Which one of the
following diagrams shows the correct position of the thermometer when taking the
temperature reading?

(N ()

(3) (4)

6 (Go on to the next page)



12 An object was attracted to a magnet, as shown in the diagram below.

[y

—+ magnet

object A

Object A is made of

(1) won
(2) wood
(3) rubber
(4) plastic

13 The diagram below shows a container with some water in it. Part Q of the container is
sealed with a rubber stopper.

rubber stopper

&g

rock

water

A piece of rock is then slowly dropped into the container as shown above.

What will happen to the water level at Q and R?

Q R
M Decrease Increase
(2 " Decrease Decrease
(3) Remain the same Decrease
(4) Remain the same Increase

7 (Goon o the nexi page)



14 The chart below shows the breathing methods of some animais.

Breathing method
[ 1
Lungs Skin Gills
f [
R S

Which of the following groups of animals below can be correctly placed in the chart

above?
Animal P Animal R Animal S
(1) Fish Reptile Mammal
(2) Amphibian Reptile Fish
(3) Mammal Fish Reptile
4) Mammal Amphibian Fish

15 Peter set up 2 dishes to with equal number of green bean seeds to compare the

growth of green beans.

wet soil

Set-up A
Placed in a dark cupboard

Set-up B
Placed near open window

What will happen to the green beans in set-ups A and B after 3 days?

(1) Only the green beans in set-up A will germinate.
(2) Only the green beans in set-up B will germinate.

(3) The green beans in both set-ups A and B will germinate.

(4) The green beans in both set-ups A and B will not germinate.

8
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16  Study the diagrams below. -

17

A B
tiited tilted /\
—— -
Water, Water < /

C D .
tilted tited /\
— ->
ice lce < /

Which of the diagrams above shows the correct observation when a glass of water
and a glass of ice are tilted?

(1) AandC
(2) AandD
(3) BandC
(4) BandD
Look at the table below.
Group A Group B
Snake Monkey
Frog Cat

This animal in Group A dnd Group B are different in terms of

(1) what they eat

(2) how they move

(3) where they live

(4) how they reproduce

9 (Go on to the next page)



18 Some water was poured into the funnel.

funnel water

plasticine

bottle

- _ water

Why was some of the water unable to flow into the bottie? .

(1) The airin the bottle takes up space.

(2) The water in the bottle takes up space.

(3) The airin the bottle can be compressed.
(4) The water in the bottle can be compressed.

19 Study the diagram below.

Which of the following statements explain why the gardener has to use a lot of
energy to pull the plant out of the sail?

(1) The plant has many leaves.

(2) The plant has many branches.

(3) The plant has strong woody stem.

(4) The plant has roots to hold it firmly to the ground.

10 (Go on to the next page)



20 The diagram below shows a container with substance X. The container was placed in
different positions as shown.

Position 1 : Position 2 Position 3

Q

| -
L 1 N | }
™~ f //E
™~ 1 g
Substance X .

Based on the diagram, what can you conclude about substance X?

A Substance X occupies space
B  Substance X can be compressed
C  Substance X takes the shape of the container

(1) Bonly

(2) AandB only
(3} AandConly
(4 A, BandC

21 The diagram below shows a bar magnet hung on a retort stand such that it is able to
move freely.

[ _

stand

{ 1

in which direction will the bar magnet come to rest?

(1) East-West
(2) North-East
(3) South-East

(4) North-South
11 {Go on to the next page)



22 Two beakers A and B, contam dlfferent amounts of water of the same temperature.
Beaker A contains 700ml of water at 70 °C  Beaker B contains "300mi of water at
70°C _Both beakers are placed on a tabie in a classroom.

23

(1
(2)
(3)
(4)

300mit

700mi!

Beaker B Beaker A

_ Which of the foilowing statements are true of the water in beakers A and B?

Both beakers of water will gain heat from the surrounding.

Water in beaker A has less heat energy than water in beaker B.

Water in beaker A has more heat energy than water in beaker B.

Water in beaker A will lose heat to the surrounding but water in beaker B gain

heat from the surrounding.

The diagram below shows four boys, P, Q, R and S, travelling in the directions
shown by the arrows.

Mirror X

Which two boys can see each other in mirror X7

n
(2)
3
(4)

PandQ
Pand S
QandR
Rand S

12 {Go on lo the next page}



24 Steven carried out an expenment as shown below in a dark room. He placed three
sheets, P, Q and R, neatly in a straight line.

ho!e

torch

SheetP  SheetQ SheetR

He observed that a bright triangular patch of light was only seen on sheet R when the
torch was switched on.

Which of the following provides the most suitable answer regarding the properties of
the materials that the three sheets are made of?

Sheet P Sheet Q Sheet R
(1) Opaque Opaque ~ Translucent
(2) Opaque Transparent Opaque
3 Transparent Translucent Opaque
4) Transparent Opaque Transparent

25 Peter found the animal below in a garden.

Which of the following statements about the animal is true?

{1) ltis not an insect because it has no wings.
(2) Itis not an insect because: it has three body parts.
(3) itisnotan insect because it has a pair of pincers.

(4) Misnot aninsect because it has more than six legs.
13 (Go on lo the next page)



26 Study the chart below.

27

Matter
v
Does it have a No Can it be |_No | c
definite shape? compressed?
lYes lYes
A ) B

Which one of the following correctly represents A, B and C?

A B C
(1) milk sand oxygen
2) sand milk oxygen
{3) oxygen milk sand
(4) sand oxygen milk

Amy attached a wooden rod to a steel iron rod. She wrapped a piece of paper tightly
round both materials at the center of the rod. After that, she piaced the rod over a
flame as shown in the diagram below.

steelrod , woodenrod

- r|f »
1
1

Paper

What will she observe?

(1) Only the paper on the steel rod is burnt.

(2) Only the paper on the wooden rod is bumt.

(3) The papers on both side of the rod are burnt.

(4) The papers on both side of the rod are not bumt.

14 {Go on to the next page)



28 The diagram shows the different stages in the life cycle of a flowering plant.

Which of the following shows the correct sequence in the life cycle of a flowenng
plant?

1) A>B>C
2) A>C>B

(3 BYADC
(4 C>BA

29 John filled two identical beakers, A and B, with the_ same amount of water. The
temperature of the water in beakers A and B was 80°C and 30°C respectively.

100 cm® of water

/

Beakel' A Beakel' B Beaker c
(water at 80°C)  (water at 30°C)

John poured the water in beakers A and B into heaker C and measured the
temperature to water in beaker C.

What could the temperature of water in beaker C be?

(1) 30°C
(2) 60°C
(3) 80°C
4) 110°C

15 (Go on to the next page)



30 “The dlagrambelowshows & decorative ftem: It consists of a plastic toy fish hung at

end P and a metal blockhung at end Q.
[ t 3
P i 5om . oY 15em - Q
" toy fish | : |— bar

metal block

The bar was balanced on both sides.

Which of the following statements is/are incorrect?

A The plastic toy fish has the same mass as the metal block.
B The plastic tov fish has the same volume as the metal block.
C  If the metalblockwas removed, end Q would be lower than end P .
D  {f another identical metal block was added to both ends P and Q, the bar
would still be balanced.
(1) Conly

(2) Aand D only
{3) Band C only
(4) A,BandD only

End of Booklet A
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" For guestions 31 to 44, write your answers in this booklet. The number of marks available
is shown in brackets [ ] at the end of each question or part question. (40 marks)

31 Alex placed two blocks of the same size and mass, P and Q, into a beaker of water
as shown below.

Block P was found at position Y, while block Q was found at position X.

(a) Fill in the blanks using the correct words in the box. [2]
contracts expands floats sinks
This shows that block P in water, and block Q in water.

Alex wants to make an anchor for his ship.

/[

anchor

One of the materials used to make the blocks (P and Q) can be used to make the
anchor. : )

{b) The material from block can be used to make an anchor.

[ [s]

1 {Go on fo the next page)




32 Fillinthe blank with a correct word. |

caterpillar

(a) The caterpillar needs food, water and . to stay
alive. (1]

(b) The caterpillar eats leaves and becomes longer after sometime. This shows that

tcan____ {1

(c) Fill in the stages of the life cycle of the butterfly in the chart below. 1]

N\

HE

2 {Go on to the next page)



33 Alice placed two ring magnets, A and B, through a holder as shown below. |

holder magnet A
magnet B
(a) The holder was made of wood and did not atiract the magnets. . 1]
Woodisa _ _material.
{b) Why was magnet A floating above magnet B? Hl
Magnet A was magnet B.
{c) Label the poles of magnets A and B in the boxes provided below. 1]

holder

(i)

3 {Go on to the next page)




14 Flena shines a torch on a ball and a shadbw is fbrrhéd ona smdoﬂ'twall.

@ [

torch ball wall
(a) A shadow is formed whenlightis by an object. f1]
(b) Draw the shadow of the ball that is formed on the wall. 1]

wall
(front view)

(c) Wnhat Elena can do to increase the size of the shadow formed on the wall?  [1]

4 3

4 {Go on to the next page)



35 John had four similar.containers made of four different materials, A, B, C and D. He
put an equal amount of ice cubes into each container. He then placed all the
containers into a basin of hot water as shown in the diagram below.

basin

0.- 0 ‘.- ‘ 0 hot water
gll!%ll‘%l %n

Container Container Container Container

made of made of made of made of

material A material B material C material D

ice cubes

John measured the time taken for the ice cubes to melt completely in each container
and recorded the results in the graph below.

Time taken for the ice cubes
to melt compietely (min)

[ ]
A B C D

—

Material of container

{a) Whnich material (A, B, C or D) is the best conductor of heat? 1}

(b) Give areason for your answer in (). [1]

L 1:]

{Go on to the next page)




36 Study the two life cycles below..

— TR ‘
!
/ Eggs \ S q A
Adult Eqgs Nymph
_ g Larva
Pupa Dragonfly
Life cycle of mosquito Life cycle of dragonfly
(a) State one similarity and difference between the two life cycles. i2]
{i) Simitarity:
(ii) Difference:
(b) Atwhichof the stages,(uoul'd it be easiest to get rid of the mosquito? [1]

[_.[s]

6 {Go on to the next page)




37 The diagram below shows the human digestive system.

() ~

{iii)

(i)

{a) Inthe diagram above, name only the parts where digestion takes place. {1]

{b) Whatis the name of part Y?

[1]

(c) Whatis the main function of part Y?

[

{Go on fo the next page)




38 An iron ring was heated over the flame.

iron ring
" flame
d is the width of the ring.
{a) Wil d increase, decrease or remain the same after heating? [1]
{b) Give a reason for your answer in (a). o [1]
{c) -Suggest one way to decrease d. {1}

N

8 . (Go on to the next page)




39 Mark placed an equal mass of Matter X and Matter Y ihto 2 similaf céhiéinéis. He T

then poured 100 mi of water into each container.

The diagram below shows what he observed after pouring the water into the
containers. The mass of both materials and volume of water he poured into the
containers remained the same at the end of the experiment.

100 ml of
water

20 ml of
water _I _

Indicate with a tick (V) if each statement is true or false. (3]

Statement True False

(a) | Matter X has a definite shape.

(b) | Matter X is a solid but Matter Y is a'gas.

© Water occupied the air spaces in between "
Matter X but not Matter Y.




40 Calvin used the magnelic broom. as shown below, in his steel factory. Calvin
observed that the base of the broom will attract steel pieces when it is being pushed
around the floor. Inside the base of the broom, there is a magnet attached to it

/

Inside the broom r

b'a se magnet base of the broom

{a) Based on his observation, what can Calvin conciude about magnet? (1]

Calvin later lent the broom to his friend who had an aluminum factory. His friend
wanted to use it to attract the aluminium pieces on the floor.

{b) Will the aluminium pieces be attracted by the magnetic broom? Give a reason
for your answer. [1]

10 {Go on to the next page)




41 Three different pieces of materials, A, B and C, of -equal lengths and thickness were
put into 3 identical beakers of water as shown below. Each beaker contained 100 mi
of water. After 10 minutes, materials A, B and C were removed from the beaker and

the amount of water left in the beakers was measured.

Before After
Material Material  poterial
A B C
100 mi
| 50 mt 20 rml
Beaker A BeakerB BeakerC Beaker A BeakerB BeakerC
(a) State the following variables for this experiment. 21
(i) Changed variable:
{ii) Responding vanable:
" (b) Whatis the aim of this experiment? i

(c) State an important variable that must be kept the same for the experiment to be

fair.

[

11 {Go on to the next page)



42 Siti puts one balsam plant each into Flask X and Flask Y. She removed only the
roots of the balsam plant in Flask X.
Both flasks were then left in the open at the same Jocation and the volume of water in
each flask was measured and recorded over 5 days.

baisém plant

450 mi of water
o
I roots

beaker

Flask X FlaskY

The graphs below shows the change in the volume of water in both flasks over a
period of 5 days.

{(a) Study the 2 graphs shown below. Which graph best represents the change in
volume of water in Flask Y over a period of 5 days? Tick (V) your answer.  [1]

Volumt‘a of water in flask {ml) Volume of water in flask (ml)
h ' 3
450 450_]
250. -
80- f— No. of — No. of
5 days 5 days
Graph A I Graph B
-
{b) GCive a reason for your answer in (a). ) [1]

[ []

12 {Go on to the next pags)



43 Mark has a bottle of cooking cil.
_...--Cover

(a} Complete the sentences to state if the parts are solid, liquid or gas.

(i) Thecoverisa - [1]

(i) Oilisa_ []

Later, Mark poured the oil into a glass jar that has a capacity of 450 em® and
connected a pump to it as shown below.
a pump

=

Glass jar __| .
(450 cm?) piston

— 60 cm? of oil

(b) 50 cm® of air is pumped intothe jar when the piston is completely pushed in.
What is the volume of air in the jar after one pump? (1]

{c) Give areason for your answer in (b). i

4

30 (Go on fo the nex1 page)




44 MrSong used a strong beam of h‘ght and a light sénsor t':ohr‘léétéd"tno adataloggerto =

record the number of students running pass the finishing line in 10 minutes.

finishing line

starting point

light source

The data-logger records the brightness of light as 1000 units when the beam of light
shines into the sensor.

The light graph below shows the amount of light entering the light sensor during the
10 minutes run.

Amour}E of light (units)

1000

- “ — Time (min)
’ 10

(a) Based on the graph, how many students crossed the finishing line during'10
minute? : [

(b) State a characteristic of light that is demonstrated here. - Mm

End of Bookiet E , E
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Q34block Q34b. SEE PICTURE Q34c. Bring the torch nearer to the ball
wall
{front view)

Q35a.B Q35b. The ice took the shortest time to melt completely.

Q36a. (i) Both the mosquito and the dragonfly have an egg stage
Q36a. (ii) The mosquito has a 4 stage hfe cycle while the dragonﬂy has a 3-stage life cycle.
Q36b. Egg stage.

Q37a. SEE PICTURE Q37b.Stomach ~ Q37c. To digest food into simpler substances

37  The diagram below shows the I'esnan digestive system.

{i) Mouth

(iii) Small Intestine
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Q38a. D w1ll increase after heating. -
* Q38b. The fire.from the flame causes the iron rlng to expand when heated
Q38c. Put the ring in cold water.

Q39a. TRUE Q39b. FALSE Q39c. TRUE
(40a. Magnet can attract a magnetic material.
Q40b. No. Aluminum is not a magnetic material so the magnet broom cannot attract the

aluminum pieces.

Q41a (i) different type of material
Q41a (ii) The amount of water absorbed.

Q41b. To find out if the type of material will affect the amount of water left in the beaker.
Q41c. Thickness of material.

Q42a. Graph A
Q42b. Flask Y has roots to absorb the water.

Q43a(i) solid
Q43a(ii) liquid

Q43b. 390cm?
Q43c. Air can be compressed.

Q44a. 4
Q44b. Light travels in straight line.

THE END
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